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	1) Use the grid method to work out 63   8
	 
	60
	3

	8
	
	



	Answer =
		







     
	[1]  

	2) Use the grid method to work out 37   7
	 
	30
	7

	7
	
	



	Answer =
		







     
	[1]  

	3) Use the grid method to work out 92   41
	 
	90
	2

	40
	
	

	1
	
	



	Answer =
		







     
	[1]  

	4) Use the grid method to work out 47   98
	 
	40
	7

	90
	
	

	8
	
	



	Answer =
		







     
	[1]  

	5) Use the grid method to work out 431   9
	 
	400
	30
	1

	9
	
	
	



	Answer =
		







     
	[1]  

	6) Use the grid method to work out 3529   4
	 
	3000
	500
	20
	9

	4
	
	
	
	



	Answer =
		







     
	[1]  

	7) Use the grid method to work out 57   26
	 
	50
	7

	20
	
	

	6
	
	



	Answer =
		







     
	[1]  

	8) Use the grid method to work out 518   36
	 
	500
	10
	8

	30
	
	
	

	6
	
	
	



	Answer =
		







     
	[1]  

	9) Use the grid method to work out 2695   85
	 
	2000
	600
	90
	5

	80
	
	
	
	

	5
	
	
	
	



	Answer =
		







     
	[1]  

	10) Use the grid method to work out 957   567
	 
	900
	50
	7

	500
	
	
	

	60
	
	
	

	7
	
	
	



	Answer =
		







     
	[1]  



Solutions for the assessment Grid multiplication method
	1) 480   24   504

	2) 210   49   259


	3) 3680   92   3772

	4) 4230   376   4606


	5) 3600   270   9   3879

	6) 12000   2000   80   36   14116


	7) 1140   342   1482

	8) 15540   3108   18648


	9) 215600   13475   229075

	10) 478500   57420   6699   542619
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